(A [~ (B
D \\C ) \\B )

(, 1 \ ( 2 \ ( 3 \ i i 50x195mm C24 rafters Roof finishes and insulrjt/tion to
! ! i ' ifi i i
\\ Y \\ Y \\ ), ! ! at 400mm centres Architect's specification/details
4070 4070 |
8140 Roof finishes and insulation to |
Architect's specification/details i
| El_ _l:_ Vi | | | V uml]
| | | | ~ | i i i i il
| | | Note: Where timbers span parallel to i = | L
i i i wall provide 30x5mm galvanised m.s. L - _HILI! L
! ! ! BAT restraint straps at maximum 2.0m H T T = |
centres secured to minimum 3 No. (Wi f f '
! ! Gable ladder ! timbers. Provide solid timber blocking [ | 203x133x30kg U.B.
| | | between timbers at strap locations. M i IG L1/HD lintel to suit wall Beam
i ; ' I | L = width. Min 150mm end
= | va — IG LL/HD lintel to suit wall b i i bearings
[ i iy \ width. Min 150mm end L
_'_"_'"i"J" i _'__J""_ B _y‘l_""_'_'_'_'_“_{ A ! bearings
~_. y P.F.C.
bolted together M12 dia. bolts [

and spacers at 450mm centres
- bolts staggered =

50x100 wallplate

50x195mm C24 rafters
at 400mm centrels

Screed and insulation to
Architect's specification

NN

\\_/ |

o a
| | g
N i
Wallplates tied ddwn with 30x5mm thick < Il I1 I1 I I I Il Il I I I I Il Il I I I I I I I1 I1 I1 I “i:'-:
| I galvanised m.s. Vertical restraint straps, g i
minimum 1.0m lopg to be provided at =] |
maximum 2.0m centres and not less i Beam and block prepa;t CO“CTe‘e '
than 2 No. straps{to be provided to any P f'°°T system to specialist det?‘"s- |
i i one wall plate. 600 Designs to be passed to engineer ,
and building control |
I R — = ’ \\ | |
—— B tt—————1'.B SECTION B - B |SCALE 1:50 |

203x203x46UC S275

6 fillet weld to flange

6 fillet weld to web

50x195mm C24 tafters Prepared for bearing PROTECTIQN TO STEELWORK BELOW GROUND LEVEL
On completion of erection of structural steelwork, all steelwork,
bolt, etc., below finished surface level shall be encased in
/ concrete 35 N/mm2 reinforced with D29 mesh fabric or as
otherwise detailed on the Contract drawings.

50x100 wallplate

Outline of existing roof — |
to be removed F\H

38x250 C16 layboards —|
on new rafters I

A

at 400mm centrels

AFTER CASTING OF THE FOUNDATIONS
THE POCKETS ARE TO BE CLEANED AND

o
i i § ] N N ANY CEMENT AND CONCRETE REMOVED
o 1 A&
' Projection | 2 . HD BOLTS ARE TO BE CAST IN TO THE
/a ’ ], 20 mm grout FOUNDATIONS WITH CONCRETE
o POCKETS
! ! Concrete pocket
fcu = 25 N/mm2
Embedment M20 x 300 sq.sq. round hex H D Bolt
: | Note: Where timipers span parallel to o o v
frame provide 30x5mm galvanised m.s. | 5
. . \
/ BAT restraint straps at maximum 2.0m ' 100 sq x 8 washer plate
A centres secured to minimum 3 No. '49' '49'
1 | timbers. Provide|solid timber blocking = TYPICAL H.D. BOLT DETAIL SCALE 1:10

between timbers at strap locations.

4L _.l__l___._________ C \ COLUMN BASES
__l_T_ \\ /, — Adjust using steel shims or folding wedges no larger than necessary,

50x100 wallplate _q;_ _49_ positioned symmetrically around perimeter of base plate.
| / ‘ ‘

Bolt pockets: Completely filled with neat cement slurry, an expanding
agent shall be incorporated in the mix.

50x195mm C24 fafters Spaces beneath base plates: Completely filled with 1:1 cement:sand

at 400mm centres mortar, just N _

‘ 135 135 ‘ fluid enough to pour, tamped well as filling proceeds. an expanding agent

shall be incorporated in the grout mix. Provide temporary shuttering
f f as necessary.

175 175 Cement: Portland cement BS EN 197-1 - CEM |1 42.5 or 52.5.
Sand: To BS 882, Grading limit M or equivalent to BS EN 12620.
1 Alternatively for bolts and base plates use a propriety non-shrink
high-stength grout to the Engineers approval, minimum compressive

2770

L 350x 15 FL x 350LG S275 strength 60N/mm?2 at 28 days
____ "“i“ﬂ' | ] 11 | __l__l_______________v_/ D \ M20 Gr8.8 Sg-Hd H.D. Bolts x 300 LG
. | | N
= [ Note: Where timbers span parallel to
-1 — wall provide 30x5mm ggwaﬁised M. 203x203x46 U.C. BASE PLATE SCALE 1:10

BAT restraint straps at maximum 2.0m
centres secured to minimum 3 No.
timbers. Provide solid timber blocking
between timbers at strap locations.

,D Structural Consultants

4 VICARAGE HILL ALSO
] o HARTLEY WINTNEY CARMARTHEN
Gable ladder Note: Prior to fabrication contractor to HOOK WEST WALES
confirm level of all steel beams. HAMPSHIRE
RG27 8EH

203x203x46kg U.B.

CENTRAL TELEPHONE : 01267 241010
Portal frame

— 203x133x30kg U.B. — 203x133x30kg U.B.

|
J
LL]
. Purlin beam Purlin beam < E-mail: michael@patternassociates.co.uk
ROOF PLAN SCALE 1:50 P _
= ' oy | U o PAVILION EXTENSION
| *— 2P Y O ARBORFIELD PARK
t=eeh U) SWALLOWFIELD ROAD
ARBORFIELD
% % U ) Client
< ARBORFIELD & NEWLANDS
<& A PARISH COUNCIL
I % \ | Z Drawing
Provide 10mm thick m.s. end m ROOF PLANS, SECTION AND DETAILS
Provide 4 No. plate welded to supported
M16 diam. bolts beam using 6mm fillet weld. LIJ
CONNECTION DETAIL — —— -
rawn by Date

RIDGE BEAMS TO PORTAL FRAME I Al FEB 2021

SCALE 1:5 < Scale Dwg. No. Job No.
N REFER TO PLAN 03 20.628




